Metric Conversion Tables

Measurement in: | From English Units: | To Metric Units: | Multiply By
Length inch (in) millimeter (mm) 25.40
foot (ft) meter (mm) 0.3048
yard (yd) meter (mm) 0.9144
mile (mi) kilometer (km) 1.609
Area in’ mm® 645.2
ft* m’ 0.0929
yd’ m’ 0.8361
mi® km’ 2.590
acre hectare (ha) 0.4047
acre m° 4047
Quantity From Sl Units To English Units Divide By
Length km mile 1.609
m yard 0.9144*
m foot 0.3048*
mm inch 25.4*
Area km? square mile 2.59
m° acre 4047
hectare acre 0.404
m’ square yard 0.836
m* square foot 0.092
mm* square inch 645.2

Abbreviations

L liter
ha hectares
kg Kilogram=1x103 grams
m meter
km kilometer=1x103 meters




SLOPE CONVERSION TABLE

Rise:Run % Grade Angle Degree
1:00 1.0 0.6
1:90 1.1 0.6
1:80 1.3 0.7
1:70 1.4 0.8
1:60 1.7 1.0
1:50 2.0 1.1
1:40 2.5 1.4
1:35 2.9 1.6
1:30 3.3 1.9
1:25 4.0 2.3
1:20 5.0 2.9
1:19 5.3 3.0
1:18 5.6 3.2
1:17 5.9 3.4
1:16 6.3 3.6
1:15 6.7 3.8
1.14 7.1 4.1
1:13 7.7 4.4
1:12 8.3 4.8
1:11 9.1 5.2
1:10 10.0 5.7
1:9 111 6.3
1:8 12.5 7.1
1.7 14.3 8.1
1.6 16.7 9.5
1:5 20.0 11.3
1:4 25.0 14.0
1:3 33.3 18.4
1:2 50.0 26.6
1:1 100.0 45.0

How to calculate Slope: Rise or (v) vertical change elevation (feet)

Run or (h) horizontal distance (feet)

Example: Divide rise by run to get your calculated slope %

15v
50h

* Divide 15v by 50h to get .30 or 30%
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HYDRAULIC APPLICATION

Wood Fiber Mulch Hydraulic Application
Average Water Required for Application
Vwa (gal) = (Wys) / (40lbs mulch / 100gal water)
Maximum Water Required for Application
Vum (gal) = (Wyy) / (50Ibs mulch / 100gal water)
Area of Coverage
A (acre) = (Wwi / Rwp)

A (ft%) = (Was / Rwp) * (43,560 ft?/acre)

Wood Fiber Application Rate (Ib/acre) Ruwi
Weight or Mass of Wood Fiber (Ibs) Wt
Average Water Requirement (gal) Vwa
Maximum Water Requirement (gal) Vim
Area of Coverage (ft°) & (acres) A

Seed or Fertilizer Hydraulic Application
Area of Coverage
A (acre) = (Ws/ Rep)
A (ft®) = (Wsi / Rsf) * (43,560 ft’/acre)
Seed or Fertilizer Application Rates (Ib/acre) Rt

Weight or Mass of Seed or Fertilizer (Ibs) Wt
Area of Coverage (ft°) & (acres) A



Example #1  (Mulch - Area of Coverage)

Given: Required mulch application rate 2,000 Ib/acre.
Hydro Seeder with 1,800 gal working capacity.
900 Ibs of Wood Fiber to be applied over seeded area.

Find: Range of Area of Coverage.
Answer: Find the 2,000 Ib/acre Application Rate Chart, Table C-3.
Using a 50 Ibs / 100 gal mulch/water ratio:
Find 1,800 gal in the Maximum Water Required for Application column.

Follow this row over to the area columns.
One tank can cover 0.45 acre (19,602 ft?).

Using a 40 Ibs / 100 gal mulch/water ratio:

Find 1,800 gal in the Average Water Required for Application column.
There isn't an 1,800 gal row, so interpolate between 1,750 gal and 2,000 gal.
Follow the 1,750 gal and 2,000 gal row over to the area columns.

At 1,750 gal, one tank can cover 0.35 acre (15,246 ft?).

At 2,000 gal, one tank can cover 0.40 acre (17,424 ft?).

One tank can cover 1,800 Ib * ((0.40 acre - 0.35 acre)/(2,000 gal - 1,750 gal))

0.36 acre (15,682 ft?).

Example #2  (Mulch - Materials Used)
Given: 0.60 acre (26,136 ft°) area to be seeded.

Required mulch application rate 1,200 Ib/acre.

Hydro Seeder with 2,500 gal working capacity.
Find: A) Amount of Mulch Required in Ibs.

B) Range of Water Required in gal.

C) Number of Trips Required.
Answer: Find the 2,000 Ib/acre Application Rate Chart, Table C-3.

A) Find 0.60 acre under the Area of Coverage column.
Follow the row over to the Wood Fiber column.
The wood fiber required by the area is 1,200 Ib.

B) Find 0.60 acre under the Area of Coverage column.

Follow the row to the Required Water for Application column.
Using a 50 Ibs / 100 gal mulch/water ratio:

The water required for the area is 2,400 gal.

Using a 40 Ibs / 100 gal mulch/water ratio:

The water required for the area is 3,000 gal.

C) Using a 50 Ibs / 100 gal mulch/water ratio:

(2,400 gal / (2,500 gal/trip)) = 1 trip.

Using a 40 Ibs / 100 gal mulch/water ratio:

(3,000 gal / (2,500 gal/trip)) = 1.2 trips, so use 2 trips.




Example #3  (Seed - Area of Coverage)

Given: Seed Application Rate 40 Ib/acre.
200 Ib of Seed is to be Applied.
Find: Area of Coverage.
Answer: Use the Seed or Fertilizer Hydraulic Application Chart, Table A-1.

Find the 40 Ib/acre application rate column.
Find the 200 Ib seed row.
Determine where the column and the row intersect and record the area.
For 40 Ib/acre, the area of coverage is 5 acre (217,800 ft?).
Or
Use the Formula on the Hydraulic Application Equations Sheet.
Find the area of coverage equation under the title Seed or Fertilizer
Hydraulic Application.
The area equation is A (acre) = Wyt / R
Area (acre) = (200 Ib) / (40 Ib/acre) =5 acre.
Avrea (ft?) = [(200 Ib) / (40 Ib/acre)] * (43,560 ft*/acre) = 217,800 ft°.

Example #4  (Seed - Materials Needed)

Given: Required Area of Coverage .13 acre (5,662.8 ft?).
Seed Application Rate 200 Ib/acre.
Find: Amount of Seed Required in Ibs.
Answer: Use the Seed or Fertilizer Hydraulic Application Chart, Table A-1.

Find the 200 Ib/acre application rate column.

Move down the list of areas to 0.13 acre.

0.13 acre is not in this column, so interpolate.

Find the area above and below 0.13 acre.

Follow the row from the area to the Amount of Seed column.
For 0.10 acre (4,356 ftz), the amount of seed is 20 Ibs.

For 0.15 acre (6,534 ft?), the amount of seed is 30 Ibs.

At 0.13 acre (5,662.8 ftz), the amount of seed is
0.13 acre * ((30 Ib - 20 1b)/(0.15 acre - 0.10 acre)) = 26 Ibs.
Or
Use the Formula on the Hydraulic Application Equations Sheet.
Find the area of coverage equation under the title Seed or Fertilizer
Hydraulic Application.
The area equation is A (acre) = Wy / Rgt
Rearrange the equation so Wy (Ib) = (A) * (Ryr)
Wsf (Ib) = (0.13 acre) * (200 Ib/acre) = 26 Ibs.
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